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Section : General Knowledge

Q.1 Which of the following Articles provides for the Constitution of the Parliament?

Ans x 1. Article 82
x 2. Article 86
« 3. Article 79

x 4. Article 84

Q.2 In which of the following years did Swami Vivekananda attend the World’s
Parliament of Religions?

Ans x1.1783 AD
x 2.1793 AD
v 3.1893 AD

x 4.1890 AD

Q.3 Which Article of the Indian Constitution provides the Supreme Court the power

to review its own judgements and orders?
Ans x 1. Article 135
« 2. Article 137
x 3. Article 136

x 4. Article 138

Q.4 Who founded the Social Service League in Bombay in 1911 to secure better

conditions of life and work for the masses?
Ans x 1. Gopal Krishna Gokhale
« 2. Narayan Malhar Joshi
x 3. Mahatma Gandhi

x 4. Raja Ram Mohan Roy
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Q.5 According to the Ministry of Mines, Government of India, which state is the

largest producer of iron ore in India (as of April-January 2021-22)?
Ans x 1. Jharkhand

x 2. West Bengal

x 3. Chhattisgarh

« 4. Qdisha

Q.6 On 1November 2024, the Government has approved the Central Sector Scheme

‘Namo Drone Didi’ for providing drones to the Women Self Help Groups (SHGs)
under DAY-NRLM, with an outlay of

Ans x 1.3126 crores
« 2.31,261 crores
x 3.%121 crores

x 4.%161 crores
0.7 Where will the 38th National Games be held?

Ans  xX1. Arunachal Pradesh

X 2. Tammu and Kashmir

¢ 3. Uttarakhand

X 4. sikkim
Q.8 Which space agency launched Shukrayan-1in December 2024 to explore Venus?
Ans x 1.DRDO

% 2. The Defence Space Agency

« 3. ISRO

x 4. National Remote Sensing Centre

Q.9 Before becoming the 12th President of India, Pratibha Devisingh Patil was the

Governor of which of the following states?
Ans x 1. Nagaland
« 2. Rajasthan
x 3. Madhya Pradesh

x 4. Himachal Pradesh
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Q.10 Which of the following rivers rises near Lake Mansarowar?
Ans x 1.Narmada

x 2. Ganga

x 3. Godavari

« 4. Indus

Q.11 During the Mughal period, ‘Mansab’ referred to which of the following?
Ans 4 1.One who holds a position

% 2. 0ne who holds a state

x 3. One who holds sword

x 4. One who holds a military contingent

Q.12 The Ma Kamakhya Temple is locatedin
Ans x 1. Indore

« 2. Guwahati

3. Udaipur

x 4. Kanpur
Q.13 Which of the following is the largest tributary (by volume/discharge) of the Indus

River?
Ans 1. Chenab

x 2. Jhelum

x 3. Sutlej

x 4. Ravi

Q.14 Which organisation organised the national conference on education, inclusion
and empowerment of minority communities, held in New Delhi, on 25 March
2025?

Ans x 1. Ministry of Minority Affairs
x 2. National Commission for Scheduled Castes (NCSC)
x 3. National Human Rights Commission (NHRC)

« 4. National Commission for Minorities (NCM)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.15 Ramgarh Vishdhari Wildlife Sanctuary, designated as a tiger reserve, is located in

which of the following Indian states?
Ans x 1. Gujarat
x 2. Maharashtra
x 3. Madhya Pradesh

« 4. Rajasthan

Q.16 With which of the following is Gokuldas Tejpal Sanskrit Pathshala associated?
Ans x 1. The place where Subash Chandra Bose formed the Forward Bloc

x 2. The place where the Congress and the Muslim League split

« 3. The place where the first session of the Indian National Congress was held

¥ 4. The place where the salt law was broken by Gandhiji

0.17 Which Indian leader served twice as Interim Prime Minister and was known for his

expertise in labour issues?
Ans x 1. Morarji Desai
x 2. Jagjivan Ram
x 3. VV Giri

« 4. Gulzarilal Nanda

Q.18 Which among the following Sultans of Delhi transferred his capital from Delhi to
Deogir (Daultabad)?

Ans x 1.Shamsuddin lltutmish
x 2. Ghiyasuddin Balban
x 3. Qutbuddin Aibak

« 4. Muhammad Bin Tughlaq

Q.19 On 24 October 2024, how old did United Nations become?
Ans x1.82 years

x 2.70 years

« 3. 79 years

x 4.73 years
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Q.20 During the 2024 BRICS Summit, which regional conflict did Russian President

Putin warn was close to escalating into a full-scale war?
Ans x 1. Tensions in the South China Sea
x 2. The India-Pakistan border issue
« 3. The situation between Israel and Iran

x 4. The Taiwan Strait conflict

Section : Logical Reasoning

Q.21 Based on the English alphabetical order, three of the following four letter-
clusters are alike in a certain way and thus form a group. Which letter-cluster
DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their
position in the letter-cluster.)

Ans 1. JEG

x 2. PKN

x 3.SNQ
x 4. MHK

Q.22 Based on the English alphabetical order, three of the following four letter-
clusters are alike in a certain way and thus form a group. Which letter-cluster
DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter cluster.)
Ans x 1.PRO
v 2. MNJ
x 3. VXU

x 4. IKH



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.23 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans 1.
6
J AV VA
VAAV
o0
O o

2.

- EOA
A A
O 0O

3
1
« /VAAV
AA AA
1
4.
OO

Y
> <
&
> <

O
O
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Q.24 Which of the following letter-clusters should replace # and % so that the pattern
and relationship followed between the letter-cluster pair on the left side of :: is

the same as that on the right side of ::?

#:EDZ:: BAW : %
Ans 1. #=KJF, % =VUQ

x 2. # =KLH, % = VUQ

x 3. #=KJE,% = UTP

x 4. #=KJF, % =VTR

Q.25 Each letter in the word 'FINGER' is changed to the letter immediately preceding it
in the English alphabetical order and then all the letters thus formed are
arranged in alphabetical order. Which of the following letters will be fourth from

the right in the new group of letters thus formed?
Ans 1 F
x2.H
x3.E
x4. M
Q.26 Select the pair that follows the same pattern as that followed by the two pairs
given below. Both pairs follow the same pattern.

EBZ-CZX
LIG-)GE

Ans x1.PLI-MJH
x 2. PMK-MKH
x 3. PLI-NKI

« 4. PMK-NKI

Q.27 What will come in place of the question mark (?) in the following equation if ‘+’
and ‘<’ are interchanged and ‘<’ and °-" are interchanged?
18+2-37+18+2x10-4+18="7

Ans x 1.364
& 2.320
x 3.409

x 4.331
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Q.28 H,1,J,K,S, T and U are sitting around a circular table facing the centre of the

table. Only U sits between S and J when counted from left of ). J sits third to the
left of H. T sits to the immediate left of H. | is not an immediate neighbour of J.
Who sits third to the left of K?

Ans 1.5
x2.H
x3.T

x4.)

Q.29 Each vowel in the word HAIRDRESSER is changed to the third letter following it in
the English alphabetical order and each consonant is changed to the second
letter preceding it in the English alphabetical order. How many letters will appear

exactly twice in the letter-cluster thus formed?
Ans x 1. Four
« 2. Two
x 3. Three
x 4.0ne

Q.30 What will come in the place of the question mark (?) in the following equation, if

‘+’and -’ are interchanged, and <’ and ‘=’ are interchanged?

4:8+35x7-6=7
Ans x1.27

& 2.33

x 3.67

x 4. 47

Q.31 What should come in place of the question mark (?) in the given series?

114 118 126 130 138 ?
Ans x1.144
v 2.142
x 3.141

x 4.143
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Q.32 B is the father of C. Q is the son of P. M is the son of B. L is the wife of C. P is the
wife of M. How is Q related to C?

Ans x 1. Wife's brother
x 2. Wife's mother
« 3. Brother’s son

x 4. Brother’s wife

0.33 If ‘A’ stands for ‘+’, ‘B’ stands for *-’, °C’ stands for ‘=’ and ‘D’ stands for ‘x‘ , what

will come in place of the question mark (?) in the following equation?

19D2A8B7C1="
Ans x1.45

x2.31

x 3.35

v 4.39

Q.34 Select the set in which the numbers are related in the same way as are the

numbers of the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding / subtracting / multiplying to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1and 3 is not

allowed.)

(16,2,126)
(21,22,146)

Ans 1.(2119,149)
x 2.(23,4,170)
x 3. (29,3,69)

x 4.(53,22,2)
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Q.35 Each vowel in the word ‘EARTH’ is changed to the letter immediately following it

in the English alphabetical order and each consonant is changed to the letter
immediately preceding it in the English alphabetical order. All the letters thus
formed are then arranged in the English alphabetical order. Which of the
following letters will appear on the fourth position from the left in the new

group of letters thus formed?
Ans x1.S
x2.F
v3.0
x4.B

Q.36 Payal ranked 17th from the top and 24th from the bottom in her class. How many
students are there in the class?
Ans x1.39
x 2. 41
¢ 3. 40

x 4. 42

Q.37 What should come in place of the question mark (?) in the given series?

40 80 120 160 200 ?
Ans x1.210
x 2.213
« 3.240

x 4.220
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Q.38 Select the triad that follows the same pattern as that followed by the two triads

given below. Both triads follow the same pattern.

DB - GF - JM

PN - SR - VY
Ans 1. EC-HG-KN

x2.ST-1G-MP

x 3.EG - AB-RD

x 4.00 - RO - AC

Q.39 Refer to the following letter series and answer the question that follows.

Counting to be done from left to right only.
(Left) GEHUXMUQEMSEBTBIH]JIHI(Right)

How many such consonants are there each of which is immediately preceded by a

vowel and also immediately followed by a vowel?

Ans x 1.0ne
« 2. Three
x 3. Two

x 4. Four
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Q.40 Two sets of numbers are given below. In each set of numbers, certain
mathematical operation(s) on the first number results in the second number.
Similarly, certain mathematical operation(s) on the second number results in the
third number and so on. Which of the given options follows the same set of

operations as in the given sets?

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding / subtracting /multiplying to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not

allowed.)

18-20-17-19;13-15-12 - 14
Ans ,1.28-30-27-29

x2.23-20-16-14

x3.19-22-20-24

x4.15-17-14 -12

Section : General English and Comprehension

Q.41 Select the most appropriate meaning of the given idiom.

Best thing since sliced bread
Ans 1. A good ideaor plan
x 2. A mistake that leads to failure
% 3. A complicated problem with no solution

x 4. Something that is outdated or old-fashioned

Q.42 Select the most appropriate option to fill in the blank.

___are going to the movies tonight.
Ans x1.Us
« 2. We
x 3. Yours

x 4. It
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Q.43 Select the most appropriate option to fill in the blank.

Dharambir Singh ran ___ to break his previous record.
Ans x 1. fast

« 2. faster

x 3. fastly

x 4. fastest

Q.44 Select the most appropriate option that can substitute the underlined words in
the given sentence.

I am fearful of being in closed or confined spaces.
Ans x 1.agoraphobic

x 2. xenophobic

« 3. claustrophobic

x 4. acrophobic

Q.45 Select the most appropriate ANTONYM of the given word.

Lawful

Ans x 1. Approved
« 2. lllicit

x 3. Permissible

x 4. Legal
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Comprehension:

Read the given passage and answer the questions that follow.

If you think fairy castles exist only in dreams, Pamukkale will prove you wrong! It is a World
Heritage Site located near Denizli, in Turkey. Pamukkale, meaning ‘cotton castle’, is a
spectacular geological formation of natural white terraces with shallow basins and frozen
limestone waterfalls.

The waters of one of its may mineral-rich hot springs have been flowing down the terraces
for thousands of years, depositing calcium carbonate along the mountain-side to the
valley below. As the calcium crystallises, oyster-shaped pools and chalky-white stalactites
of limestone keep forming, making the entire place look like a snowy fortress from a
distance.

People have been bathing in the hot springs since Roman times, believing it to have
curative powers for various ailments like rheumatism. Pamukkale is also the site of the

ruins of an ancient city, Hierapolis, also a World Heritage site.

SubQuestion No : 46
Q.46 Select the most appropriate title for the given passage.
Ans 1. The wonders of Pamukkale
% 2. A trip to Denizli
x 3. The magical hot springs

x 4. Diving into the Roman History
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Comprehension:

Read the given passage and answer the questions that follow.

If you think fairy castles exist only in dreams, Pamukkale will prove you wrong! It is a World
Heritage Site located near Denizli, in Turkey. Pamukkale, meaning ‘cotton castle’, is a
spectacular geological formation of natural white terraces with shallow basins and frozen
limestone waterfalls.

The waters of one of its may mineral-rich hot springs have been flowing down the terraces
for thousands of years, depositing calcium carbonate along the mountain-side to the
valley below. As the calcium crystallises, oyster-shaped pools and chalky-white stalactites
of limestone keep forming, making the entire place look like a snowy fortress from a
distance.

People have been bathing in the hot springs since Roman times, believing it to have
curative powers for various ailments like rheumatism. Pamukkale is also the site of the

ruins of an ancient city, Hierapolis, also a World Heritage site.

SubQuestion No : 47

Q.47 Which mineral is responsible for the formation of oyster-shaped pools in

Pamukkale?
Ans 1. Calcium

% 2. Potassium

x 3. Sodium

x 4. Magnesium
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Comprehension:

Read the given passage and answer the questions that follow.

If you think fairy castles exist only in dreams, Pamukkale will prove you wrong! It is a World
Heritage Site located near Denizli, in Turkey. Pamukkale, meaning ‘cotton castle’, is a
spectacular geological formation of natural white terraces with shallow basins and frozen
limestone waterfalls.

The waters of one of its may mineral-rich hot springs have been flowing down the terraces
for thousands of years, depositing calcium carbonate along the mountain-side to the
valley below. As the calcium crystallises, oyster-shaped pools and chalky-white stalactites
of limestone keep forming, making the entire place look like a snowy fortress from a
distance.

People have been bathing in the hot springs since Roman times, believing it to have
curative powers for various ailments like rheumatism. Pamukkale is also the site of the

ruins of an ancient city, Hierapolis, also a World Heritage site.

SubQuestion No : 48

Q.48 Select the correct synonym of the word ‘curative’ as used in the passage.

Ans x 1. Transparent
« 2. Therapeutic
x 3. Malleable

x 4. Noxious
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Comprehension:

Read the given passage and answer the questions that follow.

If you think fairy castles exist only in dreams, Pamukkale will prove you wrong! It is a World
Heritage Site located near Denizli, in Turkey. Pamukkale, meaning ‘cotton castle’, is a
spectacular geological formation of natural white terraces with shallow basins and frozen
limestone waterfalls.

The waters of one of its may mineral-rich hot springs have been flowing down the terraces
for thousands of years, depositing calcium carbonate along the mountain-side to the
valley below. As the calcium crystallises, oyster-shaped pools and chalky-white stalactites
of limestone keep forming, making the entire place look like a snowy fortress from a
distance.

People have been bathing in the hot springs since Roman times, believing it to have
curative powers for various ailments like rheumatism. Pamukkale is also the site of the

ruins of an ancient city, Hierapolis, also a World Heritage site.

SubQuestion No : 49

Q.49 Select the most appropriate ANTONYM of the word ‘spectacular’ as used in the

passage.
Ans 1. Weary

X 2. Impressive

x 3. Combustible

x 4. Stupendous
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Comprehension:

Read the given passage and answer the questions that follow.

If you think fairy castles exist only in dreams, Pamukkale will prove you wrong! It is a World
Heritage Site located near Denizli, in Turkey. Pamukkale, meaning ‘cotton castle’, is a
spectacular geological formation of natural white terraces with shallow basins and frozen
limestone waterfalls.

The waters of one of its may mineral-rich hot springs have been flowing down the terraces
for thousands of years, depositing calcium carbonate along the mountain-side to the
valley below. As the calcium crystallises, oyster-shaped pools and chalky-white stalactites
of limestone keep forming, making the entire place look like a snowy fortress from a
distance.

People have been bathing in the hot springs since Roman times, believing it to have
curative powers for various ailments like rheumatism. Pamukkale is also the site of the

ruins of an ancient city, Hierapolis, also a World Heritage site.
SubQuestion No : 50
Q.50 Identify the tone of the passage.
Ans 1. Informative
x 2. Tragic
x 3.Indignant

x 4. Nostalgic

Section : General Hindi and Comprehension
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Q.51 '3Rd" &1 fIelly I 8-
Ans x 1.3ddM4

x 2. 3%

x 3.37f

v 4.35a

Q.52 fopdar fAAYUr 9reg B J2ATRTT W3-

Ans x 1.dsIds

0.53 ‘d ¥ 7 avg W AiBIfb &1 @ 37 &2

Ans ;(1.(’—05@ dedx qRT dicilP

x 2. et R
x 3. 376 gRg
v 4. 76 ff 7ga T8 ¢

0.54 fgfafad fAeedl ¥ Adrdd &1 gATIar =5 ggdar|
Ans x 1.&dq
v 2. dgal
x 3. JHIY
x 4,319
Q.55 Hela} & Hel 3 &I Ig= BI-
‘IR @ d5Ar
Ans x 1. 399d U BRAT
X 2. DI PR 7 3G
X 3. a2 3§
o 4. udien 5 g
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Comprehension:

T 370 I7Eri: 291 & 3MMER UR fAgifeed ugl & 3R IfSre--

T Y ST IR & TAP G2 &b adlsl IR &P ¢ Ve ¢ 3R 31T 98 319 Horgd arelf &
HRATY & TS Bl SR ot WeweTdl ge 39 7 urdi T Y & Farfid & v &l ¢ i
A3, GH TG BT 1Td B YR BT 6 812 FAR H 97a BT Ueb I el 38T &1 Y1
ATl 3 U f&el 73 &1 TR P YA 390 F VAT g3 &, 39 &2 7 off U1 & & 3@l &1 73 1l &7 w@rrd
= BT 3 &, WG T 21 157 rar 1 578 e 72 &, I 371 W21 70T B & 3R 3uApht vl
DI 7R A 1T 971 Y, §GI-8G A8l I SIS | I8 S bl T § R ST, A1 RIGiddiT geb

A & HIATSTA H S i3 YR1A WSl bl 3&T b ol g1 ATGLTE-a1 BT T U G2 § HIdRd Bl
TMEd &, d I1G I 13 37 2 BIH I & & AH 7glF 31aef dliy & S| fFiee W &4 S,
o] 2T el 6 d 3G ATI3T BT HI 3G BT TGQM JATd, fbq eIV 6 qRIdaT 35

SGHY 39P U Hed hl ale &

SubQuestion No : 56
0.56 fHfefEd faeeul & q ST fAPuRigid g ST gAtaardl o 8 8?2
Ans x 1.Hd
x 2.
X 3. &ROT
v 4. Rfg
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Comprehension:

T 370 I7Eri: 291 & 3MMER UR fAgifeed ugl & 3R IfSre--

T Y ST IR & TAP G2 &b adlsl IR &P ¢ Ve ¢ 3R 31T 98 319 Horgd arelf &
HRATY & TS Bl SR ot WeweTdl ge 39 i urdi T Y & Farfid & g4 &l ¢ i
A3, GH GG BT 1Td B YR BT 6 812 FAR H 7al BT Uep I el 38T &1 Y1
ATl 3 U f&el 73 &1 TR P YA 390 F VAT g3 &, 39 &2 7 off U1 & & 3@l &1 73 1l &7 w@rrd
= BT 3 &, WG T 21 517 urar 1 578 e 7 8, I 371 W27 7507 B & 37K 3uApft vl
DI 7R A 1T 971 Y, §GI-8G A8l I SIS | I8 S bl T § R ST, A1 RIGiddiT geb

A P HIATSTA H S i3 YR1A WSl bl &M b folv g ATGLTE-a1 &1 T U G2 § AIdRd Bl
TMEd &, d I1G I 13 37 2 BIH I & & AH 7glF 31aef dliy & S| fFiee W &4 S,
o] 2T el 6 d 3G ATI3T BT HI 3G BT TGQM JATd, fbq eIV 6 qRIdaT 35

QGBI 39P U Hed hl ale &

SubQuestion No : 57

Q.57 e & MR 4R 3R S|
DI SR B cHBI 37P YAl A6 &I GIg < |

Ans x 1. 9d foeidh
o 2. RIdcdadr
x 3. sfdgraer
x 4. IideR
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Comprehension:

f&U oTU 7eg: 91 & 3R WR FAgifed 94 & 3R dIfav--

2 Y ST IR & TAP G2 &b adlsl R Gdd ¢ Vel ¢ 3R 31T 98 319 Horgd arelf &
HRATY & TS Bl SR ot WeweTdl ge 39 7 urdi T Y & Farfid & v &l ¢ i
A3, GH GG BT 1Td B YR BT 6 812 FAR H 7al BT Uep I el 38T &1 Y1
ATl 3 U feet 7 &1 TR P YA 390 F VAT g3 &, 39 &2 7 off U1 & & 3@0 &1 7 1l &1 @i
= BT 3 &, WG T 21 157 rar 1 578 e 72 &, I 371 W21 70T B & 3R 3uApht vl
DI 7R A 1T 971 Y, §GI-8G A8l I SIS | I8 S bl T § R ST, A1 RIGiddiT geb

A & HIATSTA H S i3 YR1A WSl bl &M b ol g9 ATGLTE-aT &1 T U4 G2 § AIdRd Bl
TIEd &, d I1G I 13 37 2 BIH I & &b A1H 7glF el @iy & 37| fFiee Weer &4 S,
o] 2T el 6 d 3G ATI3T BT HI 3G BT TGQM JATd, fbq eIV 6 qRIdaT 35

QGBI 39P U Hed hl ale &

SubQuestion No : 58
Q.58 3URNT eI & 3eMR W FYfafyd ¥ I 791 aId 37 82
Ans x 1.0 91df Bl WBRA U & §&J g & grea|

2. 3 TG BT WPTd 9 $A1 31 d Blod o gl
x 3. RIGIdg g deb I Hel a3l &I oig & S|

X 4. TR T U A&l BT 30T g3 6
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Comprehension:

T 370 I7Eri: 291 & 3MMER UR fAgifeed ugll & 3R IfSre--

2 Y ST IR & TAP G2 &b adlsl R Gdd ¢ Vel ¢ 3R 31T 98 319 Horgd arelf &
HRATY & TS Bl SR ot WeweTdl ge 39 7 urdi T Y & Farfid & v &l ¢ i
S, GH TG BT 1Td B YR BT 6 817 FAR H 97al BT Ueh I el 38T &1 Y1
ATl 3 U feet 7 &1 TR P YA 390 F VAT g3 &, 39 &2 7 off U1 & & 3@0 &1 7 1l &1 @i
= BT 3 &, WG T 21 157 rar 1 578 e 72 &, I 371 W21 70T B & 3R 3uApht vl
DI HIIR A &1 77 |, §&I-§& el IE SN | g e B 7d H AR 51397, 1 RigiddiT I

A & HIATSTA H S i3 YR1A WSl bl &M b ol g9 ATGLTE-aT &1 T U4 G2 § AIdRd Bl
TIEd &, d I1G I 13 37 2 BIH I & &b A1H 7glF el @iy & 37| fFiee Weer &4 S,
o] 2T el 6 d 3G ATI3T BT HI 3G BT TGQM JATd, fbq eIV 6 qRIdaT 35

QGBI 39P U Hed bl ale &

SubQuestion No : 59
Q.59 IWA e &g 3RAd ofifd b1 977 B
Ans x 1. TiAR® g
x 2. T yepfd
« 3. 791 3R A0 919
X 4.9 3R A1t
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Comprehension:

f& oTQ Ter: 91 & 3R R FAgifed 9o & 3R difav--

2 Y ST IR & TAP G2 &b adlsl R Gdd ¢ Vel ¢ 3R 31T 98 319 Horgd arelf &
HRATY & TS Bl SR ot WeweTdl ge 39 I urdi Y & Farfid & 94 & ¢ i
S, GH TaGPT BT WPTA B YR BT A1Ed 817 THR § HIdl BT Ueb I Il @l &1 R
At B R et 91 &1 FAR & TeAep 90 § VAT g3 &, 397 <21 § off VA1 &1 81 1 81 73 el &7 @t
 BIAT A &, I3g G &1 57 A1al &1 57 et TRAT 8, IS 3BT 2019 U801 B &b 3R 3yAPh vt
DI HIIR A &1 77 |, §&I-§& el IE SN | g e B 7d H AR 51397, 1 RigiddiT I
dd P AT N S AT Q1 W] Bl 387 & fole 29 3aefgdr &1 o7 319 391 8 3raaiRd &l
TIEd &, d I1G I 13 37 2 BIH I & &b A1H 7glF el @iy & 37| fFiee Weer &4 S,
o] 2T el 6 d 3G ATI3T 1 HI 3G BT TGQM JATd, fbq 2oV 6 qRIdaT 32
SHHR 3P YT Heed & alg <l

SubQuestion No : 60
0.60 FPYferf@d fAeedl ¥ A BT AT o= 1 fAdd A< 22

Ans x 1. JARS
x 2. Fatfm

x 3. 3eaTfdAP
o 4. 3arET

Section : Basic Knowledge of Computer

Q.61 Which of the following components are part of the Central Processing Unit
(CPu)?

Ans x 1. Memory Unit and Input/Output Unit
« 2. Arithmetic Logic Unit (ALU) and Control Unit (CU)
x 3. Control Unit (CU) and Storage Unit

x 4. Arithmetic Logic Unit (ALU) and Memory Unit

0.62 Which of the following keyboard shortcuts enables one to cut and copy text in an MS Word document?

Ans X 1. ctl+Xand Ctrl =P
X 2. Ctrl+ Zand Ctrl = C
X 3. Ctrl+Pand Ctrl = C

¢4 Ctrl+Xand Ctrl+ C



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.63 In MS Word, which of the following text alignments is the hardest to read,

especially in large blocks?
Ans x 1. Justified
x 2. Left-aligned
« 3. Right-aligned

x 4. Center-aligned

Q.64 In MS Word, which of the following actions will correctly save a copy of an
existing document with a new name and in a different file format, while

preserving the original document?

Ans x 1.Go to the Insert tab, click Save, enter a new name, choose a different file format, and

click Save.
x 2. Go to the File tab, select Save, enter a new name, and choose a different file format.
x 3. Go to the Home tab, click Save As, enter a new name, and click Save.

« 4. Go to the File tab, select Save As, enter a new name, choose a different file format,

and click Save.

Q.65 Which of the following options in the File menu allows users to save a new
workbook for the first time in MS Excel?

Ans x 1.Print
x 2.Save
x 3. Open

« 4. 5ave As
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Q.66 In configuring a web browser, which of the following steps are required to enable
JavaScript in Google Chrome, ensuring that websites relying on JavaScript

function correctly?
Ans 1. Go to the Settings menu, select Privacy and Security, click on Site Settings, navigate
to JavaScript, and toggle the switch to Allowed.
x 2. Go to the Settings menu, select Advanced, click on Network, navigate to JavaScript,
and toggle the switch to Allowed.

x 3. Go to the Tools menu, select Options, click on Advanced, navigate to JavaScript, and

toggle the switch to Allowed.

x 4. Go to the File menu, select Preferences, click on Security, navigate to JavaScript, and

toggle the switch to Allowed.

Q.67 Which tab on the MS PowerPoint Ribbon allows users to change the template or

theme of the presentation?
Ans 1. Design
x 2. Transitions
x 3. Animations
x 4. Home
Q.68 Which of the following tabs allows you to change the formatting of selected text
in Microsoft Word?
Ans x 1. Review
x 2. Insert
x 3. File

« 4. Home
0.69 What damage can a computer virus NOT do?
Ans X1 Delete files

2. Damage screen

X 3. Make devastating changes to your hard drive

X 4. Damage programs
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Q.70 Which of the following is the default location where deleted files are temporarily

stored in MS Windows OS before they are permanently removed?
Ans x 1. Waste Basket
x 2. Deleted Items
x 3. Trash

« 4. Recycle Bin

Q.71 In the context of computers, what are worms and viruses?
Ans 1. Software programs that cause problems on a computer

x 2. Hardware components of a computer

x 3. Security features installed on a computer

x 4. Programs that enhance computer performance

Q.72 The shortcuts to insert and delete slides in an MS PowerPoint presentation are:
Ans x 1. Inserting — Alt + M; Deleting - Hold Ctrl, Select and Press Delete

X 2. Inserting - Shift + M; Deleting — Hold Ctrl, Select and Press Delete

x 3. Inserting — Ctrl + N; Deleting — Hold Ctrl, Select and Press Delete

« 4. Inserting - Ctrl + M; Deleting — Hold Ctrl, Select and Press Delete

Q.73 When configuring an email client, what information is required to set up an

incoming mail server?
Ans x 1. Username and password
x 2. Encryption key
« 3. Server hostname and port number

x 4. Sender's email address

Q.74 How do you create a custom dictionary in MS Word to store a list of frequently

misspelled words?
Ans x 1.Go to Insert > Reference > Custom Dictionaries
« 2. Go to Review > Spelling & Grammar > Custom Dictionaries
x 3. There is no way to create a custom dictionary in MS Word.

x 4. Go to Tools > Options > Spelling and Grammar
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0.75 Which of the following is WOT a common cybersecurity threat?

Ans X 1. Malware
X 2. Phishing
« 3. Regular software updates

X 4. Social engineering

Q.76 What happens if you try to close an unsaved workbook in MS Excel 2019?
Ans x 1. The computer restarts automatically.

« 2. A warning message appears asking if you want to save your changes.

x 3. The workbook is deleted.

x 4. The workbook closes immediately.

Q.77 When opening an email in a web-based email client, which of the following

actions is generally NOT required to view the email contents?
Ans x 1. Logging into your email account
x 2. Clicking on the email subject line
x 3. Selecting the email from your inbox
« 4. Downloading an attachment before reading the email
Q.78 Which feature of Google Docs allows multiple users to collaborate on a document
in real-time?
Ans x 1. Print preview
« 2. Real-time collaboration

x 3. Offline mode
x 4. Version history

Q.79 Which of the following is NOT a use of an antivirus?
Ans 1. Secure monitor

x 2. Protection of computer from virus

x 3. Scan files

x 4. Delete malicious files
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Q.80 Which tool in Windows helps install and manage hardware drivers?

Ans 1. Device Manager
x 2. Task Manager
% 3.BIOS

x 4. Control Panel

Section : Quantitative Aptitude
0.81 Simplify V50+ V288 + V72— /288
Ans x 1. 9v/2

X2 82

X3 1442

v 4 11472

Q.82 One year ago, the ratio between Samir's and Ashok's ages was 3 : 4. After two
years, the ratio of their ages will be 4 : 5. What is the sum of their present ages?

Ans x 1. 21years
x 2.25years
3. 23 years

x 4.19 years

Q.83 A dealer buys two articles X and Y for ¥4,000 each. He marks each of them at the
same price. He sells X by giving two successive discounts of 78% and 64% and

still earns ¥158 as profit. If he sells Y at a single discount of 88%, then what is
the profit percentage on Y?

Ans X1 5604
v 2. 57.5%
X 3. 56.5%
x4 57%
Q.84 The population in a village is increased by 0.8% in 2022 and again by 0.75% in

2023. Find the final percentage increase in the population of the village.
Ans x1.1.545%

x 2.1.565%
v 3. 1.556%

x 4.1.566%
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Q.85 Evaluate the following:

35 -[25-{31-(22 - 11 + 8)}]
Ans »1.22

x2.25

x3.19

x 4. 21

Q.86 Find the value of m, satisfying equation:

(11)14 ( g )8 (11)2[! ( g )9111+2
— x|—x|—=—] ={—
8 11 8 11

;(2._2
9
x3 _3
9
it B
9

Q.87 Pipes A, B and C can fill a tank in 15, 30 and 40 hours, respectively. Pipes A, B and

C are opened at 7 a.m., 9 a.m. and 11 a.m,, respectively, on the same day. At what

time will the tank be full?
Ans x 1.3:40 p.m.

x 2.3:20 p.m.

¢ 3.-4:20 p.m.
x 4.4:45 p.m.

0.88 Convert 5.006 mto a vulgar fraction.

Ans x 1. 2003
500
2001
500
x 3 25006

x 2.

500
2503

500

& 4.

GET IT ON
Google Play
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0.89 In the election for chairman between two candidates M and K, 56% of all valid
voters supported the winner candidate M, who received 9,435 more votes than K.
According to the records, 15% of the votes were declared invalid, and all the

voters cast their votes. The total number of voters in the list was:
Ans x1.85000
x 2.85,200
x 3.95,000

¢ 4.92,500

Q.90 How much percentage decrease from 800 will give 736?
Ans x1.6%
x 2. 11%
v 3.8%
x4.12%
Q.91 4 times the present age of Latika is 18 years more than 3 times the present age
of Shashank, and 4 times the present age of Shashank is 12 years less than 4

times the present age of Latika. The sum of the present ages (in years) of Latika
and Shashank is:

Ans »1.15
x2.12
x3. M

x 4.13

Q.92 The average of the marks of 15 students in a class is 48. If the marks of each

student are doubled, find the new average.
Ans »1.96
x2.15
x 3.30

x 4.48
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Q.93 A retailer buys an electronic item for ¥175. His overhead expenses are ¥25. He
sells the electronic item for ¥460 and makes x% profit. The value of x is:

Ans x 1.150
x 2.120
x 3.110

v 4.130

Q.94 An item is marked 72% higher than its cost price. Even after allowing some

discount, the shopkeeper earned 29% profit. Find the discount percentage
allowed by the shopkeeper.

Ans x1.26%
x2.23%
x 3.28%

v 4.25%

Q.95 The sum of five numbers is 655. The average of the first two numbers is 75 and
the third number is 101. Find the average of the remaining two numbers?

Ans »1.202
x2.177
x3.203

x 4.176

Q.96 Ravneet and her family go boating in a river. The boatman says that the speed of
his boating in still water is 13 km/hr but the water stream is flowing at a speed
of 4 km/hr. They covered a distance of 36 km in direction of the flow of water

and returned to the starting point. For how much time do they enjoy boating?
(Rounded to the nearest of minutes)

Ans x 1.5 hours 45 minutes
% 2.6 hours 20 minutes
x 3.6 hours 05 minutes

« 4.6 hours 07 minutes
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Q.97 If a man bought 7 sharpeners for ¥4, and sold them at 5 sharpeners for ¥9, then
the gain percentageis %.
Ans »1.215
x 2.225
x 3.235

x 4.205

Q.98 Nisha earned P and spent 40% on food and transport, 25% of the remaining

amount on books and saved ¥11,970, then the value of P is:
Ans 126,600

x 2.25,000

x 3.22,950

x 4.20,500

Q.99 Ankit runs from his house to the park 3 km away in 30 minutes and returns home

in 15 minutes. Find his average speed.
Ans x1.10 km/hr
¢ 2.8 km/hr
x 3.12 km/hr
x 4.6 km/hr

Q.100 A cistern is normally filled in 12 hours but takes 4 hours longer to fill because of

a leak at the bottom. If the cistern is full, the leak will empty half of itin

Ans 1. 24 hours
x 2.36 hours
x 3. 48 hours

x 4.12 hours



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

